RN 9W9/ Model Question Paper
aﬂ‘iﬁm f&d@-a9 / Vedabhushan Second Year
a9 / Year 2022-23

fq - st

T fawed & amA (v) g ST / Mark () against the correct option  10x2 =20
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quTie 15 i, UITR 3 & T & X T STed &RT —

On dividing integer 15 by integer 3, the obtained value will be -

() 5 @ 6

(%)

% 1 GLdSH &9 &R | / The simplest form of % will be.
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(¥)

&1 854 H T 569 T I 9T &R T |/

The number will be obtained by subtracting 569 from 854.
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&l q%& FIU 1 AW & | The sum of two complementary angles is -
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EET1 345 H 5 T THITRH 40T el T T a4 @& 871 1/ By doing an

Ekadhiken Puraven of 5 in the number 345, the newly obtained number will

be -
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9.6 10 @.H. 3T 15 I FI &% &R | / The area of square having side 10cms.

5x2=10

will be -
(3 10 9.1 2 @) 100 @.4. 2
@) 1,000 €.4t. 2 @ 10,000 G4 >
97  @HEW X + 4 = 10 &, T x F1 A F0ERT 2
If the equation is x + 4 = 10, then what will be the value of x?
(3 3 & 5
® 6 @ 7
9.8 2454 + 100 HIAFENT | / The value of 2454+ 100 will be -
(1) 24.54 @) 2.454
(@) 0.2454 @) 9 AR
9.9  SHUTCHE IRAT T2 | Negative rational number is -
@ = @ =
@ 3 @ o
9.10 R % A R0 1 AT | The sum of the three angles of a triangle is -
(1) 180" @ 360"
@ 90" @ 45
fep-aeil % gfd IR | Fill in the blanks -
911 &S &/ Solve: 75+3=_ (25 / 35)
912 &S & /Solve:17— =0 (17/18)
.13 2 A ET .o 0T | G/Z)
The simplest form of % willbe .............
9.14 300 HT4% EFM ..o (12 / 120)
4% of 300 would be ................
9.15 T quith S R I A TPNEFA W c..occoonn o &0 |

On multiplying any integer number by zero, we will get

2
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T q1 IEA Id=Y, | State true or false. 5x1=5

9.16 300 =15% =50/ 5% of 300 = 50

517 i deEt (L % & H e B e, 7 R S FEeid € | /A number
that can be expressed in the form of S, is called a rational number.

9.18 Ul Sl fHT SER 3 A TH &1, T8 FHIHI STHA FESIA & | / Such figures
which have the same size and shape are called symmetrical figures.

9.19 TRl TR 1 Sl JSTIeT 1 T IRATT FESIA1 & |
The sum of all the sides of a figure is called the perimeter.

9.20 34 F THGA 36 8 | / The “Ekanyun’ of 34 is 36.

HE Al fS™ HRT | Match the correct pair. 5x2=10
921 -4x-3 (®) 14
9.22 15 T THIeRRA @) 16
Ekadhiken of 15 16
¥.23 13 1 TRITERRA @M 12
The Ekadhiken of 13 12
Y24 T H GRS (°) &R x AeE
Area of square Length x Width
9.25 3AFd FI &HS () Hellx ¥
Area of rectangle side x side
T TG H IR f5RaT | Wrrite the answer in one word. 5x1=5

.26 THIRWI x + 4 = 12 H x & A J1d FL |

Find the value of x in the equation x + 4 = 12.

9.27 OCHHH SiF § 3T T EHIAA & | /What do you understand by Parammitra

Number?
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9.28 JU[HRS d % | Find the product.
107
x 103

.29 3% P fire =1 e e | agfosT |
Convert the 3 % mixed fraction into improper fraction.

DD

9.30 THA HIUT H Y 1 GH3Md & | /What do you mean by alternate angle?
SIS 2/ Very short answer type questions - 5x2=10
931 Fd® /find out:
30 &1 60% / 60% of 30
9.32 Al TR T F IATER 10 TH. 05 FE 20 T B, A &R F0d FIT /1f the
base of the parallelogram is 10 cms. and the height is 20 cms., then find the

area.
9.33 GHIF &5 Zd #% / Find the solution of the equation - 2x-3=10
934 1,3,5 3TEd S1d FIed/ Find the average of 1, 3, 5.
9.35 RS % &5 &1 G fSRIT / Wrrite the formula of an area of triangle
FYSTAUI 2+ /Short answer type questions - 5x4=20
U.36 G MRISH H == | Subtract using the formula Nikhilam.
90000
-13456

9.37 WM STH § A9 F1 @HHd & / What do you understand by symmetry
shape ?

U.38 TearigeH Tl &l @G &1 H 9giq | 17 3/ Convert Vinculum number to

normal number 17 3
9.39 300 FT 400% 1 A F91 &1 / What will be the value of 400% of 300.

940 ST M F1 §HI & / What do you mean by average?
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ST U= / Long answer type questions -

941 x 9y A IAEHI | Determine the value of x and y.

/

XO

A
v

(0]

50
!

942 OF Tege | 10 feranfeEt w1 AR fm R -

A
v

The weights of 10 students in a gurukul are as follows.

12, 30, 25, 20, 28, 18, 22, 33, 17, 15
IUGHd FAFS| Hl TEEdl & AT T HIT |

Find the mean with the help of the above data.

10x2=20
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